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a.) Graph y=2x"-4.
b.) Draw and label the axis of symmetry. Write the equation for the axis of symmetry.
c.) Label the x-intercepts and the vertex.

d.) If the parabola were translated up 3 spaces, what would the new equation be?
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In a different color, draw the graphi of the new equation.

e.) In another different color, graph the equation if the coefficient of »>were changed to
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a. The vertex of a parabola is (-1, -4). One of the x-intercepts is (-3,0). What is the

other solution?
TRod1atont fom, (1,0)
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b. What is the equation of the parabola? Q=) b=2 &= =3
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c. Graph the parabola and label the vertex, axis of symmetry, and solutions.



Problem 3
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This graph represents the path of a baseball as it is hit by a batter (height vs. time).

a.) Label the axes feet and seconds. \//

b.) How high was the ball when it was hit? = —‘Ceﬁj/
c.) How long did it take for the ball to hit the ground? b peconRo
d.) For how long was the ball above 7 feet? 73 ) SECOAD

e.) Find an equation for this graph.
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